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Step 1: State: We want to find P(0.33 <p < 0.37).

We have an SRS of size n = 1500

p = 0.35 is the true proportion of first year college students who attend coll%%

within 50 miles of home.

mean is 1, = p =0.35.

We need to check the 10% condition, to use the standard deviation formula.
The population must contain at least 10(1500) = 15,000 people, it is safe to
assume that this is true, so

1—
p(1=p) _ [(0.35)(0.65) _ 1ns
n 1500




Check the Large Counts condition:
np = 1500(0.35) = 525 and n(1 — p) = 1500(0.65) = 975. _l%

Both are much larger than 10, so the Normal approximation will be quite

accurate. %@
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Step 2: Perform calculations—show your work!

P(0.33<p<0.37)= normalcdf(lower 0.33,upper: 0.37,1£:0.35,5:0.012
=0.8961
Step 3: Answer the question: About 90% of all SRSs of size 1500 will giv

result within 2 percentage points of the truth about the populatlon
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